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of the Answer Sheet.
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11.

For rough work, use the inner back page of the title cover and the blank page at the end of this
Booklet.
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- No. of Questions/wwi & wa&an : 150
Time/®%4 : 2 Hours/99%¢ Full Marks/quiie : 450

Note : (1) Attempt as many questions as you can. Each question carries 3 marks.
One mark will be deducted for each incorrect answer. Zero mark will be
awarded for each unattempted question.

HUHITeF T P T FE H WA F TAF TH 3 3w w2 R
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(2) If more than one alternative answers seem to be approximate to the
correct answer, choose the closest one.

wﬁm&mémﬁmmaﬁm%ﬁmmﬁ,aﬁmqmm
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1. Condition of equilibrium using cardinal utility analysis can be expressed a
S
’lulﬂlafﬂiiﬂ?ﬁﬁmﬁ?ﬁwﬁmﬁﬁﬂwmaﬁmﬁmmme
MU
(1) £ =Qx MU ¢ s MU Y
O) PxQx = MU, 4 MUy = Mu,,
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2. Ordinal measurement of utility assumes that utility derived out of different
commodities can be

(1) measured in exact number of units
(2) felt only and not possible to measure exactly in units
(3) ranked only in order of utility derived

(4) measured in terms of Utils

mﬁmaﬁrmﬂmuﬂWWW%ﬁﬁﬁﬁﬁ‘a@aﬁﬁmaﬁm

(1) & K ad g & . w2
(z)mwﬁmmm%@mﬁﬁwwﬁﬁmmﬁ%

(3)Qﬁamgﬁa\?&m&\ﬁmaﬁaﬂmmmﬂﬁ%%ﬁa&3ﬁ%mmm
B
(@) ‘gfrem’ % ©9 § AU S G R

3. The fact that each want is satiable gives rise to
(1) the law of diminishing marginal utility
(2) the law of substitution

(3) the indifference curve analysis

(4) the revealed preference theory

%mﬁmmﬁwﬁmmm%,miﬂ%

mm@mmﬁmﬁ (o) wheeaH & Frm

e aferH g
(S)Wﬁmﬁ (4)
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4. Zero marginal utility of a commodity for a consumer implies that
(1) total utility of previous units is also zero
(2) quality of the last unit is very poor
(3) commodity is not available for consumption
(4} consumer no longer wants additional unit of the commodity
w I & foe s diara swfe @ oord R
(1) Teeht e @ ww g v oy R
(2) s % B fFwm w59 T 2
(3) T/ I F Rrq v T 2
(4) I I 9 B Afafer K A g T FE R

5. All the combinations on an indifference curve give
(1) same level of satisfaction

(2) unequal level of satisfaction

(3) satisfaction depending upon the position on indifference curve

(4) higher level of satisfaction
T g @k 9T vt g 2 §
(1) &gfE F ¥ &
(2) B F FEH T
(3) Sl T% W foeme R ¥ amuR W wgh
(@) =gt = I wW
(188) 3
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6. Indifference curves are convex towards the origin because of
(1) increasing marginal rate of substitution
(2) constant marginal rate of substitution

(3) diminishing marginal rate of substitution
(4) perfect substitutability

I T g fag i o I N W Fwor R
(1) der sieeames 6 @ wed g8 2

(2) e wiceaTE et fRR R

(3) H vfoeamA it 2 wedt g 2

(4) o SR

7. The income consumption curve is the locus of points of consumer equilibrium
resulting when the

(1) price of commodity X changes
(2) price of commodity Y changes
(3) prices of both X and Y commodities change

(4) consumer’s income is varied

mmﬁmm%m%mﬁ@ﬁaﬁﬁaﬁmm%m
(1) x =g A o § o @

o) v g ) Fea § e @
(S)X@Yaﬁﬂeﬁﬁaﬁﬂa’iﬁqf@ﬁ?ﬂ
(4)mﬂ-ﬁaﬂﬂﬁqﬁﬁﬁ?€i
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8. The ‘substitution effect’ takes place dué to change in
(1) income of the consumer
(2) prices of the commodities
(3) relative prices of the commodities
(4) All of the above
g e B § ohedr & e s B 2

(1) 9 Y (2) a&gA A Hai
(3) TEgl # gorTors el (4) 3w oft

In order to generate very strong negative income effect, the proportion of income
spent on a commodity should be :

(1) very large (2) very small (3) nil (4) moderate

a@mmmmﬁmm%@,ﬁwﬁaﬁmmwma&ﬁm
I aTfEe

(1) &g e (2) w&w W (3) ¥ (4) 7w At &
10. Ceteris paribus clause in the law of demand does not mean

(1) the price of the commodity does not change

[2) the price of its substituteg does not change
(3) the income of the consumer does not change

{4} the price of s=—rlamentary poode 49°° POT ch&l‘lge
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11.

12.

(188)

ot % fraw § ‘o w9 @9 @ Wrar @ o e @
(1) T A Fa § wfads T8 @ 2

(2) 3o T Fga A fimdl d ofads T@
(3) IuvEr it ey § giads 9@ an

(4) T g R Hiwd A IREdT T S

A change in climatic conditions resulting in hot weather, prices remauning the
same, would cause a consumer of cold drinks

(1) to move to a lower demand curve

(2) to move to a higher demand curve

(3) to move up the same demand curve

(4) to move lower down the demand curve

dew 6 R § gRads ® o S gy T Aew §, fE e T R, 53
9 & Indie H IRa M

(1) 2 =5f1 9% | SW % fog

(2) 32w Tk W IR & o

(3) st A T W W B s T % e

(@) 3@ min @ w AR Ao Im F fo

Situation where an increase in price of commodity may increase the quantity
demanded may be due to

(1) normal law of demand

(2) expectations of further rise in prices

(3) better quality of the ?""duet

@) Both (2) and @)
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e fufy vl B § gfy W0 90 At wEn § gfy o R R, BE e A
2

(1) w1 &% wm= faw (2) vt # 3 gfg A seEmms

(3) 3 Hi = forem @) (2) @ (3) 3

If there is no change in the quantity of food sold, even when its price had fallen,
we would know that

(1) demand is more elastic

{2) demand is less elastic

(3) demand is perfectly inelastic

(4) demand is unit elastic describing a rectangular hyperbola

g § FHf & dEeg R WA H Aht 97 aeh T P fEdw e R, B
@ gm &

(1) 7 afas e R
(2) B 9 T9GR B
(3) "M yofaar Asregr ?

(4) | H) oE TR F WH R S AAdHN TR H AIE Fe 2

Price changes from Rs 6 to Rs 4 and the quantity demanded changes form 3 to
8. Elasticity of demand is

(15 21 (3) 02 (4) zero

(P.T.0,)
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aﬁmsaoﬁwﬁaﬁa@w4soﬁmﬁ%®qﬁﬁaﬁmﬁﬁwsﬁﬂﬁaﬁﬁ
B 8 B Wit R, 79 Wi i« R

(1) 5 2 1 (3) 02 ) =

15. At price of Rs 3 per unit consumers A and B demand 8 units of commodity X
cach. The market demand for the commodity is

(1) 8 units (2) 4 units (3) 12 units (4) 16 units

3 %o §fd 7w W A @ B I x I B 8-8 wwEE A AT FW
W T F fow aem att 3% Bm

(1) 8 gergal (2) 4 Tl (3) 12 TrEal (4) 16 serEAl

16. When the demand curve is a rectangular hyperbola, it represents

(1) perfectly elastic demand (2) perfectly inelastic demand
(3) unitary elastic demand R —
Sa 9in 9% TAATER TERWEE B R, 98 Ifead wE @

(1) quiea @R | (2) yotaar Aeiraer Wi

(3) TS % R TG A1 (4) qorIcHh &9 ¥ HrEe win

17. In case of downward sloping demand curve of a product, average revenue curve

(1) coincides with it (2) lies above it

(3) lies below it (4) does not exist
mmaﬁ{q-:ﬂ%ﬁaﬂxmﬁnaﬁ%wﬂ,mmaﬁ
(1) e SR FT T (2) 3% I B @

3) o AR A R (4) foemm =& fa R
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18. The cross-elasticity of good X with reference to price of good Y being negative
means

(1) X and Y are substitutes of each other
(2) X and Y are complementary goods -

(3) the above facts have no relevance to their being complementary or
substitute goods

(4] cannot say without more data

Y TG R AP vl X ag R A9 e @ @ aed 2
(1) X a0 Y Uh-g8 F A &

(2) X a0 Y Th-gR A 7 wwqd §
(3)ﬂﬁ%wmwbﬁﬁaﬁmmmﬁmaﬂm?@%
(4) fom sf sifwgl % g 78 w1 W gw 2

19. When a proportional change in input combination causes

| proportionate change
in output, the returns to scale will said to exhibit

(1) increasing returns (2) decreasing returns

(3) constant returns (4) All of the above

T S wE A s fede il w8 sl aad
% s vt aw & TE W@

(1) 3999 3w (2) gmEN BIGR T (3) @'{yﬁ{qﬁ 4) I -

(188) 9
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20. The difference between the average total cost and average fixed cost shows

(1) average variable cost (2) implicit cost

(3) normal profit (4) opportunity cost
e o1 @ T aﬂaﬁfﬁraﬂmwwmﬁhm%
(1) 3twa sfedwie (2) oTETE AT

(3) amT @™ (4) SFE APTd

21. An increase in a firm’s fixed cost will
(1) change marginal cost but not total cost
(2) change both marginal and total costs
(3) change variable cost but not marginal cost

(4) change total cost but not marginal cost

w o § fer are § gfg w=h
(Ilﬁﬂmﬂmﬁqﬁaﬁiw%wmﬁ

) @ @ g g s 3 e
(3)qﬂaﬂmﬂamﬁqﬁaﬁqq%:ﬂnmamﬁ

n9. The ‘expansion path’ is the locus of points of producer’s equilibrium resulting

when the
(1) price of labour input changes

(2) price of capital input changes

(3) money outlay of the entrepreneur is varied

(4) entreprenct shifts onto a higher isoquant
e
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TER 99 IARE F @ & fagal @ fiem aen ww } S oS g R, W
(1) 5™ 3P| I Fua § gfads @ 2

(2) €t omra & fma § wiedw g R

(3) Jft g W =g A ofwda e wmar 2

(4) Izt 3= SO 9% W oA @

23. Which one of the following is not a formula for marginal cost?

o= o w Fafafaa 4 @ @9- gy ad 87

ATC
(1) MCy =TC, -TCy _, (2) MC=—

AQ
(3) MCy =TVCy ~TVCy (4) MC=TFCy —TFC_,

24. The slope of a line from the origin to any point on a total revenue curve shows

(1) price per unit (2) average revenue

(3} marginal revenue (4) Both (1) and (2)

P /A T F R B w qefe @ BER a©h Y @ oo gehle
2

(1) s % F (2) AW I (5) W am g) (1) @ (2) 3

25. Isoquant convex to the origin means
(1) increasing marginal rate of technical substitution
(2) constant marginal rate of technical substitution
(3) decreasing marginal rate of technical substitution
(4) None of the above

(188) 11
| £.T0)
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guIat o geifag 1 3 a8 | el R
(1) TRt gfaeamg it Ao o Sedl g 2

(2) TR fdeares &t dara @ fer 2

(3) derht Nfoear it Hara  wedlt T @

(4) T ° A HE A

26. The opportunity cost of a factor of production is
(1) what it is earning in its present use

(2) what it can earn in next best alternative use

(3) what 1t can earn in the long period

(4) what has to be paid to retain it in its present use
foeft 3 % a fi s T R

(1) 97 adom 3uam § s aifla &= @1 R

(2) 98 FAAB IHfcuw I # w0 ARG F FHAT 2
(3}33&1&%3132@3:%?3@5{%%

(4) 309 oA I § FEE TR & f w4 e e

27. Which of the following is correct regarding long-run cost curve?

(A) It is least cost of producing each level of output
(B) LAC curve is envelope of SAC curves

(C) LAC is U-shaped

the right answer :

Choose

(1) (&) and (B) o0 (2) (B) and (C) only
. ®

@) (A) and © onls (4) (A), (B) and (C)

12
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JHHRAT AU T F wed § FraRiie § § wn wd 27

(A) S F TF TR F IR FO £ a0 A0

(B) AFA AR Fh INCTHA T TF H) UG (envelope) F IH TF R
(C) FTAT W TF (U) R g 2

&l IW g
(1) %a@ (A) a1 (B) (2) %@ (B) au1 (C)
(3) #3% (A) @ (C) L4 @), B T ()

28. Given that cost conditions are same, in monopoly price is — and output is
as compared to perfect competition. P

(1} higher, same (2) same, lower (3) higher, lower (4) lower, higher

I A § g W, R o qem § e §
——— T I BT R —— | ¥ Ay

(1) 3, ™= (2 W, (3 @) i, 3
29. Oligopoly is a market situation, where

(1) there are few firms producing close substitutes
- (2) there are few firms Producing entirely different goods

(3) there are few firms producing complementary goods

(4) there are two or more mOnt)poﬁsﬁc firms

(188} 13
(P.T.0, )
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IR AR it 2o R, R

(1) T8 B e i wmTe egell # AR F R
(2) 5 v St Qiey & frm awqel w1 Iaer wdt @
(3) TS B W [ gl w1 I FA

@) A W ffeeh whifewd w7

30. The equilibrium is unstable and indeterminate under

(1) Edgeworth’s duopoly model (2) Chamberlin’s oligopoly model
(3) Bertrand’s model : (4) Pareto model

g wfeR @ afgieia g ?

(1) Tsad % g Aise H  (2) T % SeniER diee d
(3) 9 Aizwt H (4) 9 Aied #

31. Perfect competition is characterised by all the following, except

(1) considerable advertising by individual firms

no restrictions on entry into or exit from the industry

(2)

(3) a large number of buyers and sellers |
(4) well-informed buyers and sellers with respect to prices
ol P fm i::a; 3 ﬁT 2, Ram

Al
i;::qlg%mm:mﬁmql@mﬁmqm
3) maﬁawfaamﬂ ﬁ.ﬂmm .
(4]ﬁqﬁ%ﬂﬁﬁ%maﬂwﬁ%maﬁﬁ3ﬁﬂ
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32. Pure monopoly means
(1) any market in which the demand curve to the firm is downward sloping
(2) a standardized product being produced by many firms
(3) a single firm producing a product forwhich there are no close substitutes

(4) a large number of firms producing a differentiated product
g Tt & a3
(1) &% st som el ot = w9 T R R A e W R

(2) T yiie o5g W a5 @ o F gu sanra f oW @ 2
(3) & =i AR G oI w A P e & T g 2

@ wH R e wEom N frigem Tl w1 3w W

33. Excess capacity is not found under

(1) monopoly (2) oligopoty

(3) monopolistic competition @) periect competition
HAdRT I gar T urd el 2

(1) GoerRR 3 2) SR

(3) e Sioatfrar (4) T wRwRm

34. A purely competitive seller’s ave

(1} its marginal revenue curve only

(2) its demand curve only -
(3] both its demand and mal'gu]al revenue curves
(4) neither its demand nor it marginal revenue curye

(188) iE
(P.T.0,
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35.

36.

(188)

& fayg wanf g & oftwd oW % TAW gl @

(1) Fa@ 4 o™ 9% &

(2) *Id | TH F

(3) T @ Hw 9@ Tk qA @

(4) 7 @ w9 i T @ dw o™ T F

The monopolistically competitive seller’s demand curve will become more elastic
the :

(1) larger the number of competitors

(2) smaller the number of competitors

(3) greater the degree of product differentiation

(4) more significant the barriers to entering the industry
e Seantt fsan @ AT 9 3 I @rEeR B/
(1) st # e Al B W

) sfefiel e ¥ T W

(3) o9 Az @ AR afuw B W

) vam # W & o St FEwql B W

A ori and quantity fixing agreement is known as
price

: (2) price concentration
(1) collusion

(3) price leadership (4) game theory

16
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dwa wd wE Puifa w9 aon wehe s s @
(1) T @) # Sfan (3) B g (4) oA
37. In the long-run, under perfect competition price of the factor is equal to
(1) Marginal Revenue Product (MRP)
(2) Average Revenue Product (ARP)
(3] Both (1) and (2]
{4) Marginal Physical Product (MPP)

e, o R # Rt e A A s 2

(1) ¥ 37W SEcwm (MRP) % (2) oitga s Sewresa (ARP) &

(3) (1) = (2) 2} F (4) dm= Mfow g (MPP) ¥
38. Causes of differential rent was explained by

(1} David Ricardo (2) Malthus

(3) J. S. Mill (4) Adam Smith

fovlerers @ % Sl B wmen B ¥ go § 0 @

(1) e Al (2) wrouw @) Jo wWe B (4) wew oy
39. In the long-run, quasi-rent will be

(1) infinite (2) zero (3) positive (4) negative

QUFE U, AVE TR [

(1) wifm (2) I3 (3) HATCHS (4) e

(188)
(P.T.0)

.
Qcollegedumas
India’s largest Student Review Platform

=



16P/239/3

40. Which one of the following is not the determinant of factor demand?

(1) Derived demand (2) Productivity of factor

(3) Work-leisure ratio (4) Degree of substitutability
frfafga & @ *-m oA oin w1 o Fufe T 27

(1) o= wim (2) §TEA s Iedreehal

(3) FE-HATH U (4) T H BT

41. Value of Marginal Product (VMP) is defined as
i Janewal 1 qed (VMP) $@ YR ufenfa fmn smn @

(] MPP x MR (2) MPP x AR (3) APP x MR (4] APP x MPP

42. The classical theory explained interest as a
(1) reward for saving
(2) reward for parting with liquidity
(3) reward for abstinence

(4) reward for inconvenience

e fagra 3 s @ fonfe fR S @
(uaﬂﬂaamwaa@ﬁ
[g)mémm%ﬁmwﬁ%mﬁ
() v % Fg geem & @ 4

) g % RO &
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Net profit is equal to

(1} Total revenue - (Total cost + Depreciation)
(2} Gross profit — Implicit costs

(3) Gross profit ~ Explicit costs

(4) Total revenue - Total cost

G @™ R @l 2

(1) T 3 — (T A + T4 FH)

2) $d AN — IFTH A

(3) A Y — =xe6 wwrd

(4) 7 A — Fd @A

Under condition of monopsony in the labour market, the trade union can
succeed in achieving higher wage rates

(1) without decreasing employment (2) with increasing employment
(3) without unemployment (4) All of the above

mwﬁmﬁmﬁf@lﬁﬁ,méﬂﬁqﬁ{ﬁﬁammﬁmﬁm

(1) fom a9 f = an (2) 9w # 3fg % gy
(3) for SO} & (4) I ouft
The demand for money for transacti tive d ds chj
b saction motive depends chiefly op current Jeye]
(1} expectations (2) profit (3) income 4) R
- ate of int,
” nterest

P.T.0)
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460

47.

(188)

mwﬁm%mgﬁﬁnﬁuﬁ@mﬁﬁq%aﬁmwwﬁvﬁwﬁ%

(1) Semmat (2) @™ (3) 3™ (4) =9 B T

Assume that the reserve requirement is 20 percent. If a bank initially h_as no
excess reserves and Rs 10,000 cash is deposited in the bank, the maximum
amount by which this bank may increase its loans is

(1) Rs 2,000 (2) Rs 8,000 (3) Rs 10,000  (4) Rs 20,000

Wﬁ?ﬁﬁﬂﬁﬂﬁdaﬂﬁaﬁmzouﬁm%lﬂﬁfﬁﬁ%%mmﬁaﬁaﬁﬁ
ﬂﬁa‘qﬁ%aﬂtﬁmﬁ1o,oooaomm@m%,a’r§$aﬁmﬁmm
Hhal §7

(1) 2,000 %o (2) 8,000 %o (3) 10,000 ¥  (4) 20,000 %o

In the Keynesian model, an expansionary monetary policy will lead to
(1) lower real interest rates and more investment

(2) lower real interest rates and lower prices

(3) higher real interest rates and lower prices

(4) higher nominal interest rates and more investment

S e B TERErd A A s feafefan &

(1) &9 & F i ol s Fraw

() &N T @ S d
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48. Which of the following will most likely occur in an economy if more money is
demanded than is supplied?

(1) The amount of investment will increase

{2} Interest rates will increase
(3} The demand curve for money will shift to the left

(4) The demand curve for money will shift to the right

W W ol 7 fowd g A i s O/ @ e 2, Aofiie § @ R
R A T wafie 20

(1) Faw & e § gig &nh

(2) == - ¥ 3fg anft

(3) g% H A % &l SN Frurfia Beh

(4) 5 ain 3% TR o Rt B

49. In the country banks charge 10 percent interest on all loans. f the generai price

level has been Increasing at the rate of 4 percent per year, the reg] rate of
interest in the country is

W A % W {gmmwméxﬁmﬁ%"mﬁ
aﬁ%aéqﬁgﬁfiﬁf"ﬁﬁm@nﬁm&m-m-mﬁamgrﬁgfmgﬁ

(1) 14% (2) 10% (3) 6% (4) 4%

50. If the number of people classified as unemployed is 2000
peaple classified as emfiployed-ie 230000, WAy 1 the ungma;d H€ number of
oyment rate?

aﬁéﬁwﬁﬁmzoooomﬂmﬁﬁﬁﬁ@- ,
U9 @ T Bhe T 230000 2, #

1} 8% (2] 8 7% 20/
{1) (3] 92% (4) 1159
(188) 21
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51. The demand curve for investment is downward sloping. When it is graphed, it

shows on the horizontal axis and on the vertical axis.
(1) income, investment (2) investment, income
(3) investment, the interest rate (4) the interest rate, investment

faw & i aF 42§ ok e &) ww W@ Bm F mew @ fAefe oS, @
—— af%s 318 W qm 3qu A W WeRfa g Rl

(1) 3m, fraw (2) Paw, (3) fRw, &N @ (4) W &, fRW

52. The life cycle hypothesis on consumption behavior suggests that people at
various stages of the life cycle

(1) spend everything they earn so saving ends up at zero
(2) increase their marginal propensity to consume as income increases
(3) decrease their marginal propensity to consume as INCome INCreases

(4) have differing MPCs, which is still consistent with a constant MPC for the
economy

mﬁﬂﬁsﬂmﬁvﬁmﬂ%m%%eﬁﬂmmwaﬁ%&amaﬁ

i
(1)3aﬁfaaﬂl%ﬂm%aa@éméﬁ%ﬁ@m¥ﬁ@mg

mmﬁq&#mmmﬁ%ﬁg&mﬁ%
(3]mmﬁgﬁ%m;ﬂmmﬁmﬂqﬁtﬁwﬂm§
(4]3qﬁMPCW'WW%W““WM‘*W@%HMW%
a1 ¢

(2)
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54.

55.

(188)
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An increase in total production (real GDP) causes the demand for money to
and the interest rate to

(1) increase, increase (2) increase, decrease
(3) decrease, decrease _ (4) decrease, increase
T I (TRAfEE Modloflo) H Fhg F FU FFH A W —— W =W «

(1) =edt, sgdt  (2) oedl, gedt (3) =, = (4) W, R

As the economy nears full capacity, the short-run aggregate supply curve

(1) becomes flatter (2) becomes steeper

(3) shifts to the right (4) shifts to the left

w5 sberen 3398 e v 2, seTEe o o
(1) awaer gt meh R (2) G B S 2

(3) TRl i frefia A 2 (1) =t i forenfs 9 2

The neutrality of money refers to the situation where
(1) increases in interest rates are matched by decreases -
y €8 In the Price of bonds
(2) increases in interest rates are matched hy inoveases ; ;
d bw M the price of bonds

(3} increases in the money suppl 11 It |
y eventually result in ng cp .
: aNge in rea) oyt
put

(4) decreases in the money sy

pply result in increases .
—p— €8 In the interest rate in the
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S6.

57.

(188)

T ) e o b R W gRR w2 R
(1) == R 4 3 % w1 v fiwal 4 w0 A 2
2) = @ # gfy % wu aive o # gy A 2

(3) g1 #i qfd # 3fg # F¥ WG araflaF T W T v=a
(4) g1 Hit gfd § wft stogee § =W @ H o R

When nominal supplied money increases by 10%, then
(1) GDP, investment and consumption decreases
(2) GDP, investment and consumption increases

(3) interest rate decreases, while the change in investment and consumption is
ambiguous

(4) GDP and Government deficit increases

o $ O B 10% A g A TR L, A

(1) Sodiodto, Faw @@ Inim & i gt

(2) odtotfto, Fidm @ 3w # g &f

(3)maﬁﬂ3ﬁﬂmﬁ'ﬁéﬂ@mﬁﬂﬁmﬁwﬁﬁﬁ%mg
FB T8 Fe I Feha

) hodiotto @ T ¥ T F g A

If the consumption eurve is drawn through the origin, then

onsumption and income are the same

(1) ¢

(2) th - .

(3) autonomous saving is very high
amption is zero

(4) autonomous cons

e marginal propensity to consume is zero
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I I 3% qafeg @ E 9@ R, @
(1) I0im @ F s E - (2) Hmra Il wgfy g e
(3) W F9a sga e dnf (4) @R 39T 3= g

58. If the Central Bank sells bonds to shrink the money supply and the Government
decreases spending, then (in the short-run)

{1} investment will increase while the production may rise or fall

(2) production will decrease and investment may rise or fall

3} investment and production wil definitely increase

(4) investment and production will definitely decrease

g A A R ¥ o S 49 a3 2 qw (s 3w
%GR =g B ¥4 Ay 9w R, At

(1) B A ofg Sft st s we @1 97 TEa 2

(2) ST 7 g M s Faw = T w3 w2

(3 P w s B W a |

(4) N @ I At w1 & w3

59. If the equilibrium output indicateq by IS-LM is above the level co
N.AIRU, all of the following are true, except (be sure to think
differences between movements along curves and movements of

(1) this is not a sustainable IS-LM solution

nsistent with

through the
Curves)

(2) inflation will rise, shifting the prior LM to the left

(4) unemployment is below the NAIRU, so wages are rising

(188) 25
(P.TO)
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If2 IS-LM g weRfa @ma 3ared T NAIRU&gﬁwﬁ%m%,?ﬁﬁzﬁ%ﬁ
§ 4 Rl Oiow 9 S g9 @ (T Th 9 W weuE @ feenfid @wt %
Tl # s faem)

(1) 78 O Fefg [S-LM & Ta 2

() whfy & gfy @t 7N veR A fou LM A ol SR frar g

(3)Lmaaamﬁaﬂ1ﬁ@nﬁa€rmﬁaéawmaﬁmﬁaﬁtﬁwﬁa
g

(@) Sf ST @ NAIRU & 99 ¥ wafore el & gfe w0

60. Surendra makes Rs 30,000 per year and can invest wealth at 5% (real) per year.
He believes that he will receive an one-time bonus of Rs 15,00(}3 next year, but
expects that this bonus will have no effect on his future labour income. Assumi
that Surendra would like to consume the same amount each yf:ar for the rest of
his life, which he expects 1o last 50 years. The permanent income theory o

consumption implies that he should

(1) increase his consumption by Rs 15,000 this year

1 ' L
(2) temporarily Increasc his consumption by Rs 15,000 this or nex

year

(3) increase his yearly consumption by approximately Rs 300 or slightly more,
in

starting this year
«e his yearly consumption by approximately Rs 300 or slightly less,

4) increa
( starting next yeor
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gtz 9 =¥ 30,000 T T R AW 5% SwEfyE B o ¥ Wy § ERw W
HHAT | 9E W} R @ @ ad w9 15,000 %o dF@ femm et =@
SEh A d oA A 9w Am waia T @ A S gy e @ fr sed
ﬁﬂﬁv@ﬂsoaﬂﬁ%aﬂtagmaﬁqmmmﬁﬂmm%lwnﬂm
MeFeT F 3[ER N

(1) FH 3 & S I 15,000 % & TG 3 R

@ % 7 A ww w w swem s w A 15,000 T @ a@ A
S (i

(@) el 34 & g& F@ G AW AME W 300 7 W 37 gy 3 7
o e | |

61. “Note that the percent change in the GDP deflator is bein
of inflation rather than the more familiar CPIL The
that samples

g Used as the measure

' GDP deflator 5 a price index
» N0t just those paid by consumers.”

(1) all prices, including imports

(2) prices of all domestically-produced goods and services

(3) prices of all domesﬁcal,],y-produced goods and services €Xcept export
orts

(4) prices of all domestically-produced goods ang po—
produced by Government CeS except thoge

(188) 27
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62.

(188)

Wa%motﬁoaﬁo%mmaﬁoaoﬁomﬁﬁmaﬁgm@ﬁ%m%m
@it fEm S @ 21 Noloflo sEhiftERE WE IUWRAIS g IHT T T A
afeh W ament@ Bl gl

(1) @@ A e @ ge e S
2)%Wﬁwﬁamﬂmaﬁqa@maﬂﬁﬂuﬁ
(3)%ﬁa\wmm_ﬁwr&awa@ﬁqaﬁm3ﬁﬁﬁnﬁ

(ﬂmmmﬁaa@aﬁaﬁaﬁwmmﬁmwa@ﬁ@
Fastl e

When economists speak of the ‘demand for money’, which of the following
questions are they asking?

(1) How much cash do you wish you could have?
(2) How much income would you like to earn?
(3) How much wealth would you like to have?

(4) What proportion of your financial assets do you want to hold in non-interest
bearing forms? '

Sa et mﬁnﬁ’ﬁaﬁﬁ%,ﬁémﬁﬁﬂq—mm@@

)m’ﬁwﬂ*ﬂﬂ“ﬁ'mm%?

[4)mmﬁ%mmﬁmﬁ-m%mm—mwﬁmmﬁ?
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63. The multiplier in an open economy is
as income level increases,

than in a closed economy because,

(1} greater, there is a wider market available
(2) smaller, some of the increase will be used to buy imports
(3) greater, exports become more attractive to foreigners

(4] smaller, consumers buy goods that had previously been sent abroad

wwmﬁwwﬁmﬁmﬁ———M?aﬁﬁaw
R A g AR, @ — |

(1) 931, MemgFa 51 a=R 3qesy By 2

64. Stagflation is the most difficult macroeconomié problem to address because
(1) if the RBI expands the mohcy Supply, the inflation rate wiJ] fall, vyt g il
output, which is already quite 1ow ’ b
2) if the RBI reduces the money supply, the output wijj rise, but so wip th
inflation rate, which is already quite low ‘
(3) 1f the RBI expands the money supply, the inflation rate wijj rise ;
and output will fall even lower €ven higher
(4) if the RBI reduces the Money supply, the inflation rate Will gy ‘
output, which is already quite low » PHL %0 will
(188) 29
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65.

(188)

W%ﬁﬁmmﬁqw@wﬁmw%mﬁ%
) af rel g B o T 2, @ B @A WA @ Ry v 3 A e
T W HNg Iared off FF @ S

tﬂwﬁnmmaﬁ{ﬁﬁm%,aﬁmﬁa@mﬁﬂqﬁé%@ﬁaﬁ
W W Hisg whifd @ off =g s

(SIﬁRBlﬁﬂﬁﬁaﬁaaﬁﬁ%,ﬁFﬁﬁﬂaﬂtmﬁmaﬂtm
3 Al 92 ST

(4)HﬁRBIgﬁfﬁ{ﬁﬁﬂEﬁﬂ%,ﬁw@ﬁaﬁwﬁﬁﬁ%@wﬁ%ﬁaﬁ
mmtﬂt{qmaﬂtwﬁlm@n

“High demand in this year’s economy caught producers unaware, forcing their
inventories to absorb this demand.” How does this inventory change appear in

the GDP calculation when adding up all expenditures?

(1) 1t is added when measuring GDP, as an element of investment demand
(2) Itis added when measuring GDP, as an element of consumption demand
(3) Itis subtracted whert measuring GDP, as an element of investment demand

(4) 1t 18 qubtracted when measuring GDP, as an element of consumption
demand

“Wﬁﬁﬁﬁﬁmﬁmm-mmﬁm%(ﬁ)
auﬁﬁr@ﬁmaw”sﬁzﬁﬁaﬁwmwmﬁaﬁgaﬂm
ﬂﬁa@éﬂo@otﬁoaﬁﬁﬁmmm?
(1)sﬁﬁamﬂﬁ%@ma%mﬁsﬁozﬁomaﬁm%wsﬁ@m
(2)Eﬁmﬁ“*@maﬁmﬁﬁhoﬁﬂﬁoiﬁmgﬁmiﬁg{m
(3}@ﬁ&ﬂ“ﬁ%@mﬂ3%wﬁaﬁoﬁotﬂoaﬁmaﬁmmm
{4)@Wﬁ%@mﬁ%@ﬁiﬁ0ﬁoﬁ0ﬁm%mmm
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67.
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Goods and services are valued at market prices when calculating GDP. Because
the ‘outputs’ of Government are not sold, they have no market prices. In the
actual calculation of GDP

(1) they are valued at zero
(2) they are valued at the cost of producing them
(3) their value is estimated from a surve.y of recipients of these services

(4] their value is estimated from the market prices of similar market-provided
services ‘

Hododte i T W T gl @ VAR W qEIET TER FET w2

I v & s’ ® oA T oam s o+ aen g @ dm e
Sftodtodto &Y o F TR

(1) Y@ & ST AW 9@ R

(z)ﬁmm%wmwé

(3) T Hardl H WW FW AR A F aFeaw ¥ AR W AW S R
(4lﬁ%mﬁwﬁ%ﬁdﬁmﬁ%m:@ﬂ%mmmmmg

If the multiplier is 3, the marginal tax rate is 20% and the mo

a Rs 10 crore 1 in G oncy mmﬁpﬁcr 1s 4,
Te increase in Government spending will cause the G
budget deficit to overnment

(1) increase by Rs 10 crore (2) increase by Rs 6 crore

(3) increase by Rs 4 crore (4) decrease by Rs 6 crope
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68.

69.

(188)

I U H gew 3, HE W @ 20% d9T gg1 O 4 B, A WER & =4 §
10 T3 %o N Iy T wda T A

(1) 10 FAT Fo F wUN w1 M (2) 6 FAT To F WO Fa@ M
(3) 4 FT Fo & R Tq M (4) 6 TS Fo & FUK A a7

The Real Business Cycles theory claims that business cycles are caused by
(1) supply shocks such as technological shock, wérs, political upheavals, etc.
(2) increase in aggregate demand

(3) decrease in aggregate demand

(4) None of thesc

SN 9% F1 AERE Rige 78 e § Fh AR 96 Fe w S d e
(1) wAR 39T, Tg, Torfifoeh Jue-3ae 98 qfd o @

(2) @m =i & 3fg |

(3) @ win § w4 A

(4) T & P13 T

in transfer

in taxes will decrease consumption spending and
payments will increase consumption spending,

(1) An increase, a decrease " (2) An increase, an increase

(3) A decrease, a decrease (4) A decrease, an increase
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A —— INM =W AW T RN e PEH § —— Im =y d
gig amh -

(1) 3fg, =h (2) 3fe, g (3) w4, w+h (4) ¥R, 3ig

70. Which is the following in not true about the fixed accelerator model?
(1) The capital-output ratio is assumed to be constant
(2) Complete absence of excess capacity is assumed
{3) The lagged capital-output relations in this case is givenasl, =B (Y, , -V, ,)
(4) The capital goods industries have surplus capacity
R = Yo & wa § i 3 @ $h-a T ol o 3,
(1) {oh-scamed ow ) fRr ue fRen w2
(2) ot I g R R N b e w2
(3) {of-SeT 1 W v ww QR L, = (Y, -, )
(4) U5ma agell ¥ 3@ § 9w e a2

71 With different values of o (propensity to consume) and f (accelerato coefficient)

Samuelson in his theory of businegs cycles clatmed that there Will be expjoc
cycles for the following values of o and B plostve

(1) «=0-5and p=0 (2) =06 andp =2

f3) a=0-5and[3=1 (4) a-_—o.aa_ndB:4

(188) 33
(F.T0)

.
Qcollegedunlas
India’s largest Student Review Platform

=



16P/239/3

72.

73.

(188)

“(mﬂﬁ)@ﬂ(mm)%%ﬁa@ﬁ%mmﬁgmﬁm
=R 9% g 3§ g8 we fn B e 9% 9@ W a1 R W6 o W B A
1 freed @

(1) «a=0-5T p=0 (2) 0 =06 W g =2

(3) «=0-5T p=1 (4) @ =0-8 T B=4

Which of the following does not appear as a leakage in the working of
investment multiplier?

(1) Liquidity Preference (2) Financial Investment

(3) Net Imports (4) Absence of Excess Stock
St 3 @ 2 AW T § T (leakage) % ¥ 3 ufw 7 dar?
(1) e A | (2) forfm faw

(3) Y& FAM (4) s wiF h gureata

Which of the following statements best describes Keynes view on working of
bank rate as a method of credit control?

(1) He says that bank rate does not influence the economy at all

2) He argues that it affects the economy through its influence on long-term
interest rates '

3) He argues that it affects the economy through its influence o short-term
interest rates

(4) None of the above
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frfafen & @ FF-w1 o @@ fw fl @ A % = 3% @ & 9@y 8
9 % =R # 78 w0 el w27

(1) & 3ed § 7 9% q snformewr 7 fegs wike & =@

(z)asmﬂ%%ﬂ%aﬁmaﬂqmaaﬁmﬁam%mmﬁMﬁ
wnfad =

(3) 9 w2 % wr souEmn wWE ® F WG S ¥ T @ ademer 8
uIiad FaT

(4) 30% § @ S 58

According to which (_)f the following hypothescs, consumption is irreversible?
(1) Absolute Income Hypothesis (2) Relative Income Hypothesis

(3) Permanent Income Hypothesis {4) Life Cycle Hypothesis

= ¥ 3 e ofeer & SR It Srgspmelt Bren 2
(1) FAF 3 sfgeq (2) amE I e
(3) Tl ol (4) haq % ufmegm

Starting from an initial equilibrium i

um in the IS-LM model, how
thc:l effects oi.” a stock market boom that increased autonom::lmﬂd you mo-d <
and contractionary monetary policy that sought' 10 prévent mﬂz '_Consump’uon

(1) The IS curve would shisk 14 the left and the LM curve woulq g;
- i

(2) The IS curve ft to the left

would 1 i
shift to i, right and the LM curve would

: shift tg
(3] The IS curve would shift tq the left and the LM — the left

shift to the right

(4) The IS curve would shift to the
e right and the LM cypy
€ wo

right uld shift to the
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IS-LM #iea # wrfvm ang 6 fRfd & wow FQ g AN R gER § OSER
(boom)ﬁaﬁmmﬁq@ﬁ?ﬁ%wgmcﬁ%aﬁﬂaﬁﬁqﬁémé
T ggaEd AR Aife B F wfia Ha?

(1) 1S % W@ LM o% i iR foeurfia &

(2) IS ¥ zrff i @ur LM a st ol fawafta @i
(3) IS % aRfl 31T Ao LM a5 gl o feeenfua dvm
(@) 1S T LM =% =off 3t frenfia &M

76. IfA=(1,23),B=(XY) then the number of functions that can be defined from

A into B is
aft A=(1,23),B=(X,Y), ® AQ B ¥q werl @ oferfia @en gt
(1) 12 (2) 8 (3) 6 4 3

X -X

7. lff(X)=2 i ,thenf(X+Y]-f(X-—Y)iscqualto

pid f(X]=2x ;2_;(, @ f(X+Y)- f(X-Y)H TR B

(1) g[f(2X)+f(2Y)] (2) L1f(2X)-f(2Y)]

@) L(f(2X)+ F2Y)] @) L(f(2X)-f(2Y))

200X

& then k -
s, 11 =120%, Xe(-10,10)and £ (X)=K igmexr) e

200X
1% o/ X) :}%j%’ X €(-10,10) @& f(X)=k-f[mO+X2} @ k & 9H &
1 =

1) 05 (2) 06 - (3) 07 4) 08
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79. Which of the following are functions?

= 4 3 S-ar wem 27
(1) [(X,Y):Y?2 =X,X,YeR] (2) (X, Y):Y=|X]|, X,Y R]

B) (X, Y): X2 +Y? =1, X,Y e R} 4 (X Y):X*-Y?=1,X,YeR)]

80. The domain of definition of f(X)=VaX-Xx? is
TRAIR ST £ (X)=V4X - X? T X9 gm

(1) R-[0,4] (2) R-(0,4) (3) (0,4) @} (0,4]

81. Differential of X* with respect to X will be
X % g9 XX F JaFa am

(1) X2 .10 X 2) X2 .log X

(3) X% {1+logX) (4) X% (1+log x)

82. Differential of X¥* with respect to X will be

X & wy X F1 e am

fflogX+_l_ og X2 |
o X (5 ) RC a8
logX 1 T
(3) X"f(——a-——} ) X*| 28X 1
2% " TX ) X2 %)
(188) 37
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83. Differential of (X*)* with respect to X will be
X & gng (XX)* #1 3@weH am
(1) X**(2log X +1) (2) X-X*"(log X +1)
(3) X -X*'(2log X +1) (4) X' (log X +1)

dy .
84. If X" =¢'* ") then — will be
dX

afe X7 =X Eﬁdxﬁlqﬁ@m

2 2
(1) (%%ﬁ?} 2) “1:—31:;}—) (3) ﬁ? 4 ﬁ:—‘;ig—’;?
85. If X' =Y*, then % will be
x-S, @ L am uH e
Y Y—XlogYﬂ ‘ 2 K(XlogY—Y)
) X[X—Ylogx_ X|YlogX-X
X [X-Ylog X] o X[Xloa? -X)
(3) ?{Y XlogY | y |YiogX-Y
86. 1f X =at’ and Y =2at, then % will be
o X = gl Y = ZaITﬁ EIHHT;T"”
() t (3) -}5 (4) 2t

1
(1 r
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e +et e -e’’

87. H X-= and Y =

, then ﬂ will be
dt

4ot ‘_et o dy
aﬁx:e"; amy =% 28 ,a’tdtmmm

X X X Y
1) — ¥ . e} &
(]Y ()Y2 (3)Y (4)X

88. If f{X)=logy2(logX), then f'(X)at X =e will be

M f(X)=logy 2 (log X), A f'(X), X =e W AW

(1) 1 (2) 21—e (3) 1le @) '1;_

89. Given f(X)=-4X%, then

f(Xx)=4x% & fow
(1) f'(4)=F(-4) (2) f(4)=-f"(-1)
(3 fi)=Fl-1) 4 F(5)=f"(-1)

90. If w/l—X“ +JT—Y6 =g,_3[.{{3 —YS), then % is equal to

M VI-XC +V1-Yo a3 (x3 vy @ ‘% @R g

2 f1_y6 [
X“41-Y 2) Y? Ji_y$ —22. 1 _ x6

(1

2 1-x8 XTI 1oxe O Y2 ioye @) Y2 vi-x®
X? 1-y®
(188) ad
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91. J'[l_.xj.,/}_{.dx will be

f(1-X) VX -dx ®1 7= gm
(1) 3x?13 -2x52 ¢

(3) 2x*P_2x%¥5 .

3
92. j’(xh_l_) dX will be

X2

j'(x%l]adxaﬂm@’ﬂ_

%2
(1) 'X7 ——1—+X3—-§+C
T X X
7 1 3_3
“}7‘5(_5+X .X+C

93.

(188)

2 2x%2-2x574cC

(4) 2x32-2x32 ¢ C

x7 1 3

2 ¥ _— 4
(2) 7 +5x5+ X+
7 1 5. 3

—t+—-X"+—+C
“ X7+5X5 X
5 3
®
2) —-—+X+C
(2) 3
¥* x#
4) —+—+X+
(4) 3 " g C
40
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log X y
94.
f < X will be.
jlogxdxmmﬁm
log X log X2 log X )? 22
1 (log X log X
m==vc @ X (3)——2-)—+c (4,%,_)“3

95, [ V1+eX .e*dxX will be
j\ll+ex e*dX ¥ 9 ﬁm
(] ga+e’PrP+e (2) 2(1+eXP¥2 4

3 X\3
B 3t+e’y/?4C 4) 3(1+e¥)¥3 4

96. The function S(X)=2log (X-2)+X?+4X +1 increases on the interval
T f{X)=2log (X -2)+ X% +4X +1 Fgar RN AN T F sy
(1) (1,2) (2) (2, 3) (3) (1,3) (4) (2, 4)

97. For the function f(X)= X s+ L
X

(1} X =1is a point of maximum

(2) X =-1is a point of Minimum

(3) maximum value > minimum valye
(4) maximum value < minimup Value

(188) 41
(F.T0)
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S S (X)= X+ F fo

(1) X =1 % forq forg atfrram = (2)X=—1%.ﬁfqﬁ%=’ﬁaq'€"“

(3) wifeham qed > A I (4) RN ¥ < A TeA

98. The function f(X)= i (X -r)? assumes minimum value at X =
r=1

B f(X)=i(X—r)2 FaH WM X =

r=1

(1) S ) 3 (3) 3 (4) 2

99. Letf(X)=2X3 _3X? -12X + 5o0n[~2, 4].The relative maximum occurs at X =

s (-2,4] 3 WE R A £(X)=2X° -3X? ~12X +5. WREw s
X -

(1) -2 @ -1 @2 4) 4

100. The minimum value of X -log, X is equal 10

X.}ggexaﬁﬁﬁﬂﬁﬂﬂ'@m

1
1y e @ -e @ - @ -~

42
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The utility function of a consumer is U = X, X2 -10X,, where X, and X, are

quantities of two goods. For given product prices Rs 2 and Rs 8 respectively and
income of the consumer Rs 116. Optimal values of X; and X, will be

mﬂ?m'%gﬁwmmﬁﬁmw’%u:&xg—mxl,maEﬂ@ﬁxlaanX2
8 Gl el f A af o F 2 Fo AU 8 %o qw IwNH & AW
116 ¥ B\ X, a0 X, A sgpaad qond gef

(1) X, =10, X, =18 (2) X, =18, X, =10
(3) X, =2 X,=8 4) X, =8 X, =92
The market demand function of a firm is given by 4p+ X -16 =0 and Average

p ,
Cost (AC) =~ 4+ 2 - -05X2. Fi ich gi
ost (AC) X+ 2-3X+0-05X“. Find value of X which gIves maximum profit,

where X = output, p = price
@ﬁﬁmuﬁmg4p+X—l6=Oamaﬂmama

A :
(AC) =}—+2—3X+0-05X2 B X = ST, p = Fma %gs X a'; ﬁ;ﬂ o= # ﬁ"IQ
™ T By

I} X=0.

(1} X=0-4 (2) X=4 (3) X =40 ) X =400
1 0 o

fA=10 1 0l, then A2 ig equal to
a b -1

(1} a null matrix

(2) a unit matrix

(3) -A ™ A

43
PT.0,
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10 0
@ A=|0 1 0f, @ A? TR gm
a b -1
(1) T A AR (2) Th TS TR
(3 -A (4 A

104. If A and B are two matrices such that AB = A and BA = B, then B is equal

to

ﬂﬁama{@AHﬂTB%'gAB=AWBA=B,iﬁBQW'€m

(1) B (2) A 3) 1 4 0

2 2 .
105. If A and B are two matrices such that AB = B and BA = A, then A® + B* is equal
1o '

aft @ R A N B ¥ AB =B I BA=A, @ A%+ B? ST @M

(1) 2AB (2) 2BA (3) A+B (4) AB
a 00 |
106. IfA=|0 a O , then value of |adj A | is
0 0 a
a 00 |
o A=\0 a O @ |adj A| F WH B
0 O @
6 4‘ a2
27 (2) a’ @ a {
(1) a
44
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2
107. I A =[5 Z) be such that A™! = k. A, then k will be

qﬁA={§ _g)%gﬁm%A‘lzk-A,Fﬁkﬂﬁﬁ’ﬂ

1 1
1) 19 2) — =3 s ™
(1 @ % @) -19 @ -
2 3 1 %
108. The rank of the matrix A = 0O 1 2 -1)ia
0 -2 -4 2
(1) 2 (2) 3 (3 1 (4) indeterminate
; 2 3 1 4
e A<(0 1 2 -1|= & &
0 -2 -4 2

(1) 2 (2) 3 (3) 1 (4) aﬁ‘l’f{vﬂa

5 5% &4
109. The value of |53 g4 8% will be
5% 55 56
52 53 54
5% 5% 55 & 9F g
5% 55 56
(1] .57 (2) 0 (3) 53
3) 5 (4] 59
S
(188) 45
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110.

111.

112.

113.

if A =[ 3} , then determinant of the matrix A? —2A will be
2 1

“ﬁA{; ﬂ%@ﬂTa‘{ﬂAz—QA?ﬂm{ﬁﬁﬂmﬁm

The mean weight of 150 students in a certain class is 60 kg. The mean weight o;'
boys in the class is 70 kg and that of girls is 55 kg. The number of boys an
gitls in the class will be

(1) Boys : 10, Girls : 25 (2) Boys : 20, Girls : 50
(3) Boys : 50, Girls : 100 (4) Boys : 75, Girls : 140

R F= H 150@|ﬁmaﬁwam60kg%lsaﬁagﬁﬁaﬂwasﬂ7okg%
amagﬁﬁﬁﬁrmaaWSSkg%lagﬁamagﬁﬂ&ﬂmm

U)H@ﬁ'-l(),a’f?ﬁ“ﬁﬂS (2)3@,3#?;20,3;@;50
(3)@;50,3@%&:100 (4) @S : 75, TGk : 140

di tribution the coefficient of variation is 22:5% and the value of mean 18
S ’ - -
?051- i?‘]"I*u: standard deviation will be

-éz:{%gﬁrﬂ'(m"lﬂ.ﬁ22-50/6%'6811111‘2{7'5%l33'§ﬁﬂmﬁ‘a€1€m
T{Eﬁ

1) 1-45 (2) 1-56 (3) 169 (4) 1-85
( .

0-8 and variance of Y =16. The standard deviation of X will
. —_ . r o] .
With byy =072

be
__05 r"--0-8 dadal qE Y = 16. X &l HHh IaaEF{ é"“
XY :

: 4) 256
) 25 (3) 10:0 @)
46
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114. The regression lines are 3X +5Y -42=0 and 2X +Y —80 =0. Estimate of Y
when X =10 will be

& ™ hwEE W@E ¥ 3X +5Y -42=0 A1 2X+Y -80=0. X=10 ¥ Y
AR AW

(1) 0-4 (2) 1-4 (3) 2-4 (4) 34

115. In time series model, technique of Moving Average (MA) is used to measure

{1) secular trend (2) seasonal fluctuations

(3) cyclical fluctuations (4) random term

FAt IEY ¥ wo-a= (MA) 1 o 3 & @ Bt A 3 i g 2

(1) deirciia Sqa (o) e e (3) TR WEE (4) 29 oty
116. Laspeyre’s Price Index (LPJ) is given by

AR B g (LPL) F1 e g 2

p X Po‘?o '
(1) PBI = q x 100 (2) Pcf'p :2F,1q0 x100
10 190
T P.g |
(3) Py =—2%L 4100 ip _LP
) 01 o (4) Pm = ;Zz XIOO

117. A bag contains 4 white, 5 req
random. The chance that a white

lm,lmﬁlsﬁﬁé_%ﬁmﬁ TP 2 ﬁWﬂmm%|

4 1
1) — gy =
l]15 A 3

@anﬁ4m,smam63ﬂﬂﬁ%|w#né3

6
(188) 47
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118. A card is drawn from a well-shuffled pack of playing cards. The probability that
it is either a Diamond or King will be
mﬁ@@@@mmm%lwwwmﬂmmﬁ%ﬂw,
Tl WifgeRar gt

2 1 4
(1) 3 (2) 13 (3) = (4) T

119. Ten unbiased coins are tossed simultaneously. The probability of getting exactly
6 heads will be

wWﬁ%wamﬁaﬁ%naﬁms%@mﬁmﬁm#ﬂ
1023

53 63 7
= 2) — 3) —— 4) -
e 6 4 256 ) 128 # 1024

120. 1n normal distribution, the maximum probability exists at X = and is given by

aqﬁ:msr@wxwm@?ﬁ%aﬂIWWM%

e W T

1
(1) P (X ) =2n-06 (2) -2—15-0
) ) 2n -G

Jon-o

dia has recorded the largest gap in terms of growth

_Year Plan in In :
e industrial sector?

hich Five
121. Wh the services sector and th

rate between
(1) Seventh Plan (2) Eighth Plan (3) Ninth Plan

wﬁmmﬁﬂmﬁmaﬁmﬁﬁmiﬁwaﬂmm%aﬁa
ﬁga@mﬁﬁﬁmﬂm?
@) W T (3) Al T (4) zael

48

(4) Tenth Plan
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122. The Service Area Approach was implemented under the purview of
(1) Lead Bank Scheme
(2) Integrated Rural Development Programme
(3} Training of the Rural Youth for Self-employment

(4) Mahatma Gandhj National Rural Employment Guarantee Scheme

(&FF@WT*ﬁﬂ@ﬂwﬁmﬁﬁhﬁﬁﬁﬁm
(4) Heren TN T g AR T gy

123. Which of the followi 1
ng Five-Y i
i sl gmwmg car Plan has laid emphasis oy, faster, sustainable

(1) Eleventh Five-Year Plan (2) Ninth Five-Year Plan

(3) Twelfth Five-Year Plan

ﬁ':l%ﬁgaﬁﬁﬁmdaaﬁﬂhw
H _ ﬁmﬁw,wﬁwwmﬁmmmwﬁm
(1) AR et e (@) e Wty oy
(3) sredi ywadfg ey (4) Tl el s
(188) 49
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124. Growth of Indian agriculture has been slowed down since the adoption of new
economic policy due to

(a) Low increase in Crop yield

(b) Low public investment

(c) Stagnant Green Revolution Technology '
(d) Low retail market pricgs of agricultural products

' inati iven below :
Answer the question by selecting the correct combination of Codes given

Codes

(1) (), (), (), (d) (2) (b), (©)

@) (a), (b), (@ (4) (a), (d) |
#mﬁamaﬂmﬁﬁamwﬁu@ﬁmmmmﬁ@%wﬁﬁ

(1) v & 3 i B

() fr= < W

(3\@naﬁa$ﬁuh‘tﬁm
[4)$ﬁ3ﬂaiﬁﬁqwm'm
ﬁﬁa@@ﬁﬂaﬂéﬁmﬂwmmi:

P :

2) (b), (©)
(1) (@), (b} (c), @ (2) (b)

4) (a), @
3) (@, () (c) (4) (@)

50
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125. High Yielding Varieties Programme in India does not include
(1) wheat (2) pulses (3) jowar (4) maize
mﬁﬁmmm(r{m)ﬂvﬁi’mﬂ% |
(1) 7§ (2) Tt (3) =R (4) wEm

126. Endogenous technological change is not caused by

(1) FDI (2) population size

(3) population density (4) educational level
(1) THoLtoamdo (2) e = m
(3) FHem v @) AME ww

127. Which of the following programmes 1'5 no

. t included in ryrm :
development in India? ed in rural Infrastructure

(1) Integrated Low Cost Sanitation Scheme (ILCSS)
(2) Bharat Nirman
(3) Indira Awas Yojana (1AY)

(4) Total Sanitation Campaign (TSC)

(188) 51
(P.T.0)
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128.

129.

(188)

fofifas § @ -a1 sdwd ai@ § aef g e e & srmta e
Téf fawm T 27

(1) a7 @ = dism (ILCSS)
(2) v Bt

(3) 32U mam A (1AY)
(@) T wwwm sPEE (TSC)

Which State in India has the lowest infant mortality rate?

(1) Maharashtra (2) Goa (3) Gujarat (4) Kerala
wr@ & frg T # Y g W GE@ HH RY
(1) ey (2) T (3) TR CR

Match the different Five-Year Plans of India given in List—/ with the annual
growth rate of national income (at 2004-05 prices) given in List—I and select

the correct answer from the code given :

List—I List—II
(a) Eighth Plan
(b) Ninth Plan
(c) Tenth Plan

(d) Eleventh Plan

(i) 5'5 percent
(i) 67 percent
(iii) 7-5 percent
(iv) 7-8 percent

Codes - |

@ @® © @ ‘ @ (b (o (d
ay G @ ) W 2 O @ G
@ @ v 0O () @ v () @) ()

52
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Th—1 7 fafim dwadfa deemd @ 7w § o g § T e s afz =
(2004-05 # F1t W) & T {1 A ghel R 7 B W ¥ gHRW 3@ T

fou gu %z w9 #§ v s w1 9w e .

geit—1 q—I

(a) el A i) 55 wiovm

(b) A = (i) 67

(c) Z&aEt qe (i} 7-5 wfAw

(d) e A (iv) 7-8 wfve
2

@ (® (© @ @ ® (@ g
) @ (i) (i) 2 i) (iv)
R N i

productivity of
(1) pulises
(3} wheat

(1) =& (2) foeer

(2) oilseeds

(4) fruits and vegetabieg

nm%;ﬁﬁw%%a%'mammmﬂm:weﬂ

(3) #

53

() %8 @ gah
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131, Natural growth of population is the outcome of the following :

(a) Crude Birth Rate
(c) Migration
Codes :

(1) only (a) (2) only (c)

(3) (b) and (d)

(b) Crude Death Rate

(d) Marriage

(4) (a) and (D)

seEn # wphe gfy e oo 27

(a) JFMTE S (b) SRR §g

(c) T (d) foame

F :

(1) 99 (a) (2) ¥ (c) @) (b) M @ (@) (@) 3O

132. Match the following and select the correct answer from the code given below :

List—I
(a) Critical Minimum Effort Thesis
(b) Knife-edge Equilibrium
(c) Bastered Golden Age
(d) Big-Push Theory

Codes
@ ® (c) (d)
vy @ (i) (2)
(i) (i) (@) @)

y ()
3 @

54
(188)

List—II
() R. F. Kahn
(i) Rosenstein Rodan
(ili) Leibenstein

(iv) Harrod

@ () (€ @
M () v ()
vy @ @ ()
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g w1 gu Feifea R gu g w9 3 9@ s w1 9w i

qh—1 ga—n
() S <Faw wm Rgr (i) Ro Tho FH
(b) Fh-TM BER (ii) T T
(c) 3mHF ity gm (iii) Sedm
(d) Soe um fage (iv) TS
qc :
@ ® (g (@ @ (b { (d

W@~ 0 m @ 6 @ ™6
(3 (i) (i) (i)~ (iv) (4) (iv) (1) (@) (1ii)
The concept of vicious circle of poverty is associated with

(1) J. M. Keynes (2) Ragner Nurkse

(3) Karl Marx (4) J. s. M
Thel % geww A EuRn fFER gEfig 27

(1) Sto Wo W (2) TFR TG (3) ISt Trad (4) S0 Wo P

Whose model of the following economists makes u

v 3 3 se of :
principle to explain business cycles? of the stock adjustment

(1) N. Kaldor (2) J. R. Hicks

(3) P. Samueison (4) J. M. Keynes

55
(P.T.0)
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=T wF B A A % R fefaer § @ fea ool 3 wis w
fogma =1 3w fmn 27

(1) o m (2) QO 3o %3'\':[
(@) Flo A= (4) o o HA

135. By an unlimited supply of labour, Lewis meant
(1) infinite elasticity of demand for labour
(2) infinite elasticity of supply of labour

(3) infinite labour availability in prevailing wage rate
(4) None of the above
oy ) i omgfd @ wfam w1 A o

(1) #m & @1 § < @

) mm g & = T

| (3) Ve WeEh @ W ITered I A
(4) v & @ S T

136. Members of the World Trade Organization are required to

(1) eliminate all tariffs

(2) allocate quotas on first come first basis

(3) prevent their firms from dumping

@) enforce patent rights for patent holders from other countries

56
(188)

L4
Qcollegedumas
India’s largest Student Review Platform

~



16P/239/3

fova =R 1A ¥ wew W ¥ anfem R

(1) =ft 2wt N gem

(2) U8 AT UFA UIT F MUR W FeT LT FE

(3) R Al B W A Y+
(41m%¥ﬁ#ﬁ2€ﬁ@.ﬁ%%qﬂ'§zaaﬁmﬁﬂmm

137. Which of the following issues did the Uruguay Round not addressed?

(1) Migration (2) Intellectual Property Rights
(3} Services (4) Tariff

e & & fom 2w o A A e o

(1) m | (2) dMfgF wvE sfn

(3) Hamd (4) R (Fewm)

.

List—r1 List—i1
(a) Free Trade Area () No restrictions on trade and factor mo
. M ve
(b) Custom Unions (i) Trade is free and no customs dut; o
(¢} Common Market () No customs duties but dyties on no
(d) Economic Union (iv) Advanced stage of integration n-members
Codes o
@ G
. & tes . (d)
N @ @@ gy 0
e . 1
B @ G 60 (v '
(4} (1) (IHJ (iv) (11]
(188) 57
PT.0)
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139.

(188)

T #@ T RE g £ #9 8 wd I F o AR

TH—I ge—I
(a) T R & (i) SR R FE AT W FHIE Adaard T
(b) A IFRA (i) TR aF 3 e g e ek T R
(c) T S (i) Fré e T8 ¥ veg R-weE S W A R
(d) i g (iv) TR Y I A
R &

@ (B © @ ® @ @
oW w @ @ 0 @ @ @ ™ 0
@ @ @ O 2 @ o @ o O

If the international terms of trade settle at a level that is between each country’'s
opportunity cost, then

(1) there is no basis for gainful trade for either country
(2) both countries gain from trade
(3) only one country gains from trade

(4) one country gains and the other country looses from trade
ﬁmﬂmﬂﬂimwmmm%aﬁmiﬂﬁmmﬁ
&9 Ted ?, @
(1)&—msﬂaﬂ%:ﬁma1wrﬁmaﬁ1@dm:\ﬁ%
(Qlaﬁasﬁaﬁwﬁmam%
(3]-3@@%\&1@6&1%%@1%1%% i
7 A AR s @ W

58
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140. When a nation imposes an import tariff, the nation’s offer curve will

(1) shift away from the axis measuring its export commodity
(2) shift away from the axis measuring its import commodity
(3) not shift

(4) any of the above is possible

& T W AW Yo o 8, @ 20 W W 9 S @

(1) s st Fets g = o w@ R, @ @ Rawd ar@m
(2)wa?amaz§amqmm%,ﬁag%wm
(3) & Rawam |

(4) 0w ¥ 8 = wofe R

141. Acco.rding to the Rybczynski theorem, the growth of only one factor at constant
relative commodity prices, leads to an absolute €xpansion in the output of
: 0

(1) both commodities

(4) any of the above

Wﬁm%m%ma
Wﬁmﬁﬁmwgwwwm@m%%

(1) 27 gt
(2) q@mmﬁmamwma@

l&ﬂvmmﬁmammmm
(4) W7 q 5 o

(188) 5o
.10,
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142. Harrod-Domar model of growth is based on the concepts and their equality of
(1) population and productivity growth
(2) investment and average growth raté of income
(3) | actual, warranted and natural growth rate
(4) productivity growth and investment growth
mwm-@m%ﬂwﬁawﬁmmm%
(1) N Aom Ienesal €976
(2) Fam au s A A Ife =
(3) arafes, IniE A wrfos faswmE
(@) SeareER gty A AT Eie

ty 1 trine was
143. O portuni cost version of comparative cost advantage doctri
. P

introduced by

(2) Kindleberger
(1) J. M. Keynes

(4) Haberler
(3) Karl Marx

Wwwmﬁwmmmﬁmﬁqﬁqﬁamm?
¢
(1) Jo wo HE  (2) fprgeEt (3) e A (4) TR

1 i ()de] as an alternative to
44 W bl.lllt hlS m

dor’s model of growth (2) Ranis-Fei model of growth
(1) Kaldor's .

sade’ del of growth
del of growth (4) Meade’s mo
d:Domar mo ;
(3) Harro |

60
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mﬁﬁmmmﬁm%mﬁﬁﬁa%m?
(1) %Sk =1 " aisq (2) Ww-o% w1 o afew
(3) BUS-IM w1 fywm Freq (4) e =1 fwm wieq

145. Arrange the stages of economic growth in a sequential order :
() The stage of high mass consumption |
fi) The traditional society
(i) The take-off stage

(iv) The drive to maturity

Code :

1) @), (iiD). (i i

(Y (.), (iii), (iv), (i) (2) @), (iv), @), (1i1)
(3) (i), {0), (i), (iv) (4) (i), (ifi), (iv) (i)

HF w6 e s & T w0 B v B
M 3= SEmR Ied ) ameg
(i) mefE g
(i) 2F 3HTF srgee
(iv) hwsa $ AR srw
FT
(1) (1), (i), (iv), (i) (2) (i), (iv), (i), (it
(3) (), (), (i), (iv) (4) (i), (i), (iv), g
(188) 61
(P.T.0)
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146. According to A. K. Sen, famines occurred in India because of

(1) lack of proper distribution mechanism

(2) lack of demand

(3) lack of transportation

(4) shortage of foodgrains -
Qo%om%mmﬁmmmq'@%

(1) S foam @ & 72 3 (2) W % w0 W W
(3\‘!&5@;‘55‘“@?% (4]@mﬁﬂﬁmﬁﬁ

147. Hedging refers Lo
(1) the acceptance of a foreign exchange risk

(2) the covering of foreign exchange risk

(3) foreign exchange speculation

(4) foreign exchange arbitrage

62
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148. Experience with managed exchange rates since 1973
(1) strongly supports a fixed exchange rate system
(2) strongly supports a freely flexible exchange rate system
(3) mildly supports a flexible exchange rate system
(4) supports some restriction on exchange rate fluctuations
yafua e g @ w1973 @ 2
(U-@ﬁnﬁﬁwﬁ_(wﬁrmmmm%
(zymmﬁm—ﬁ%amwﬁwmw%
(3) v Rfr o wgh @ o w3
4) ﬁﬁm_miw_wmﬁmmmg

149. Whi )conomic Su '
: ch Economic *ﬂwqhasmtmduwd a4 new chapter on
evelopment and Climate Change’? - |

(I) Economic Surveyv 2004 95
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